* %

Addieren

Aufgabe 1 Aufgabe 2

1. 4478 + 1022 = 1. 4804 + 4175 =
2. 3940 + 2314 = 2. 4162 + 1878 =
3. 2843 + 1947 = 3. 2281 + 1560 =
4. 4940 + 1166 = 4. 4397 + 1776 =
5 2068 + 1402 = 5 4820 + 2801 =
6. 1644 + 1414 = 6. 3152 + 1610 =
7. 4864 + 2961 = 7. 4268 + 2504 =
8. 2740 + 1814 = 8. 2895 + 2306 =
9. 3961 + 2280 = 9. 4666 + 1203 =
10, 4822 + 4452 = 10, 2678 + 2450 =
Aufgabe 3 Aufgabe 4

1. 4437 + 2773 = 1. 4685 + 1365 =
2. 3539 + 2382 = 2. 4668 + 2139 =
3. 4542 + 2926 = 3. 4719 + 2132 =
4. 3134 + 2895 = 40 1879 + 1121 =
5 4024 + 3598 = 5 4889 + 4749 =
6. 4959 + 4561 = 6. 4020 + 2820 =
7. 4362 + 1318 = 7. 3478 + 2758 =
8. 3566 + 3447 = 8. 3206 + 2768 =
9. 35802 + 1463 = 9. 3628 + 2444 =
10, 2906 + 2428 = 10. 3076 + 1995 =
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* %

Addieren

Aufgabe 1 Aufgabe 2

1. 4478 + 1022 = 5500 1. 4804 + 4175 = 8 979
2. 3940 + 2314 = 6 254 2. 4162 + 1878 = 6 040
3. 2843 + 1947 = 4 790 3. 2281 + 1560 = 3 841
4. 4940 + 1166 = 6 106 4. 4397 + 1776 = 6 173
5 2068 + 1402 = 3 470 5 4820 + 2801 = 7 621
6. 1644 + 1414 = 3 058 6. 3152 + 1610 = 4 762
7. 4864 + 2961 = 7 825 7. 4268 + 2504 = 6 772
8. 2740 + 1814 = 4 554 8. 2895 + 2306 = 5 201
9. 3961 + 2280 = 6 241 9. 4666 + 1203 = 5 869
10, 4822 + 4452 = 9 274 10, 2678 + 2450 = 5128
Aufgabe 3 Aufgabe 4

1. 4437 + 2773 = 7210 1. 4685 + 1365 = 6 050
2. 3539 + 2382 = 5 921 2. 4668 + 2139 = 6 807
3. 4542 + 2926 = 7 468 3. 4719 + 2132 = 6 851
4. 3134 + 2895 = 6 029 4. 1879 + 1121 = 3 000
5 4024 + 3598 = 7 622 5 4889 + 4749 = 9 638
6. 4959 + 4561 = 9 520 6. 4020 + 2820 = 6 840
7. 4362 + 1318 = 5 680 7. 3478 + 2758 = 6 236
8. 3566 + 3447 = 7013 8. 3206 + 2768 = 5 974
9. 3502 + 1463 = 4 965 9. 3628 + 2444 = 6 072
0. 2906 + 2428 = 5334 0. 3076 + 1995 = 5 071
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